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  ) (Cط  8( ا�	��ـــ�ـــــــ�ء 
     (2,25)  1ا�1���2 

���دو��ت ا������  1� ���  : ــ أ-�, +*( ا��)�د'ت &�% ــ #�"!ة ا���ا
HCN(aq)ــ  / CN (aq)−   )0,25  �>C)(  

HCــ  O(aq) / C O (aq)−
ℓ ℓ    )0,25  �>C)(   

7ا�*��7 ا������6 ��5% ا��4���4��3 ھ1  ــ 2  6 3C H O   

�� �89ا ا��5%  1ــ  2��� ؟ أ-�, +*( ا��)�د�� &�% ــ #�"!ة ا���ا�  (0,5). <� ا�*��7 ا������6 ���"!=> ا��;ا
V+)�@; &?��  2ــ  2 20,0mL=  1��3 =;-��ه ا����5��ل &�% ا��4���4> C>2C 2,0 10 mol / L−= و+�E( إ��>  ×

 ��?&V ' 10,0mL=  ك��+�>Gل ا��5> C>3NH (aq)  1��2=;-��ه ا��C' 5,0 10 mol / L−= ×   

     (0,5)    أ-�, <)�د�� ا���L����M ا�C" �?=�K ا��C�H I"�J &�% ا��4���4��3 واG<�+��ك  أ ــ 
�����H Q;ا-�� ا������ ، "�O�9+ !K ا��I"�J أ&4,  ب ــ R( 0,75)=;-�@� ا�     

   (5,75)ا������ة ا��=��Mة :  2ا�1���2 
 SO;@Mا� �(T# IU!+ ، C�?�4-وG1 اL�KV ز�X 1� SO;@Mا&�;اق ا� I"�J= 6+?�زS(s) �9��m <��ھ?� -� 2,0g=  1�

 ��V=�5�ي "�] &?��M5> Z ا�4! ، &�� 1,L=  Z?&و C�?�4-وG1 اL�KV C>0V 50mL=  ;T�. <C ا���ء ا��

 C�?�4-وGز ا�X 1� SO;@Mا&�;اق ا� �O�9+ !K"2O (g)  ، ، 1 ا���ء���� ذو�Hن �" I�94�� "� +5;ك�ا��?�

 [�2SOا���L����M ا��1 =�5�ي " (g) SO;@M1 أو-�4! ا�L�KV ز�X `=�K-  .ب <��" I*5ل ا����5��� �>;+ 0(S )  .

C�?�4-وGز ا�X 1� SO;@Mاق ا�;�&' ��L����M2:  ھ1 ا��)�د�� ا� 2S(s) O (g) SO (g)+ →   

)! "���� ا'&�;اق  1H ، ا���دة ���MH ، ��L����M"� ا��0,5(ــ &!د =;-�@� ا��?�  �>C)(   
5��ل  0Cــ ا�K�a` ا��;-�� ا����1  2���0(S   1L�KV ا�8ي �5O�ي "�] �Xز  (

  )(C<�  0,5(. أو-�4! ا�SO;@M ا�I"�J= C" `=�K ا'&�;اق 
3 !O!5�� 0ــexpC  <��" I*5ل ا����8Uc+ ، ��@O;?=1V &?�� =;-�� ا��5 10mL=   

C>0(S ا��5��ل  5��ل �K7K>;Hت ا�@�=��a�م  (> �Taا�H ه;O�(+و  

4(K (aq) MnO (aq))+ C=;-��ه ا����1  <%�5+− 0,20mol / L′ =  .  

 ,*H م��+ �>!K" ، e��Mا�� [�" I*5+EV 13,0mL′ =   

�� �gر#�م  1ــ  3��1 ا��)�O;ة ا���ا ��  أ"Q أ��aء ا��IL�a وا��I���5 ا���4)�
�] ا��@��+� ��+@> " �K�@1(. ا�� �>C)(   

1V<� ا�?�9ز ا��8UG I�(�4 ا�Z?5  2ــ  3 10mL=  ل��  ) 0,25(؟  C>(S) ا��5

�1 ھ8ه ا��)�O;ة ؟  3ــ  3 e��Mا�� ���(> Z�O )�- م������ ا���@)� �O;Tا� �>  
   ) 5 ,0(    ا��?;�H ؟  إ�] ار=�Mب أ�TUء hUل �ن=eدO أذ-; a@@�ن ر��4�Lن�H)�O;ة د#��� ؟ 

�I"�J= 1 ا��)�O;ة وا�K�a` <)�د�� ا��I"�J  4ــ  3 ��U!دو��ت ا������� ���أ-�, +*1J ا��)�د�� ا�M�6;و+�� ا���ا
   ) 1(     hUل ا��)�O;ة 

 I"�J1 ا��� C���U!ا��� C1 ا���دو���T(+ :2
4MnO (aq) / Mn (aq)− 2و  +

4 2SO (aq) / SO (g)−  

�e  5ــ  3�Mا�� !K" ة;O�(ا�� I"�J��� k�   ) 0,5(أ+mn ا�?!ول ا��1Jl ا���ا
5��0��ل 1L�KV أو-�4! ا�SO;@M و#�ر+> ب  0expCا�K�a` ا��;-�� ا����1  6ــ  3C �?��Kا� [�" k�   ) 1( و"

 1T(+ : SO;@M��� ا������ ��Mا� :M(S) 32g / mol=  �H;?وط ا��;q 1�mVا�Z?5 ا����1 ��7ز  25L / mol=   
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  )(C<�  12( ا�����ــــــــــــ�ء 
  )(Cط  3(  1ا�1���2 

 r�s> 1 رؤوس� vE+ABC  �T�K1 ا�� �Oا��او ZL�# ،A  أن r�5H ،AB 2a=  وBC a=  ��L�H;9- C5q ثhV ،  

B Aq 2q=  9و
A Cq q 1nC 10 C−= = aو  = 10cm=  1T(+9K 9 10 (SI)= ×  

1 1���T ــ &!د <���ات <�?�9 ا��?�ل ا�C-�a;9M ا��5!ث Kا�  C  )  ZyK5] ــ ا��Kا'=?�ه ــ ا��(   :  
   ) C>Aq )1 ط;ف ا��K5n  1ــ  1

  )C>Bq )1 ط;ف ا��K5n  2ــ  1

2  ;�@(= `�K�aــ اE  �T�K1 ا�� 1�Mا� C-�a;9M�9 ا��?�ل ا�?�>C  ��'!HAE  وBE  �9���# ,4&1( وا(  

): +h(��H ;-8#� ا���?��9  )22 2 2 2u v u v u.v+ = + +� � � �
  ������� ا��5O;T)��ل ا��a3�8 ا- CM�O( و [���ط "a6ا

 <�Jaأ IMn1 ا�� C��sا��� COر�ا��5 ( 
 
 
 
 
 
 
 
 
 
 
 
  

  ) (Cط  3(    2ا�1���2 
 C��Oاز��> C��5�Jl C�H !��ON  وP  ���4> ��9K�H I*J= ،d 10cm=  <���# C-�a;9- 4، <?�لE 10 V / m=   

1  C> ا��5!ث C-�a;9Mــ &!د <���ات <�?�9 ا��?�ل ا�k@T=; ا���ا�� ���# `�K�aوا C��5�J*ط;ف ا�  
  C�HP  وN )1 (  

2  �";4H C��5�J*ا� C�H �+و;�Mإ� IU!= 0ــv
�

  �9���#6
0v 10 m / s=   

�] ا�M�6;ون hUل ا+����C> �9 ا�*�5�J  1ــ  2" ��@Tا�� �K-�a;9Mة ا��� P (1)إ�] ا�*N  �5�Jأ&I(q ,4 ا�
ا���9H I*�a 1 ا�M�6;ون إ�] ا�*k�@T�Hv  �5�J <@;ھ�K ا��T#� ا�5;-�� "�] ا�M�6;ون ، أ&4, ا�4;"�  2ــ  2
P  .(1)  

- 1T(+� ون;�M�6ا �� :13
em 9,1 10 kg−= qو�K5q ا�M�6;ون  × e= 19eو  − 1,6 10 C−= ×  
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  ) (C<�  6(    3ا�1���2  

 <@+�� IMn1 ا�� Is1 ا���@O;?ن ا��;-�, ا���M�O :  
 ��L�H;9- !ا��ــ <G  �-;5>;9Mا� <=�#E 24V=  ���U!و<�> ا���rو< 2= Ω  ،  

��� 'Eــ <��L�H;9- �-;5 #�=> ا�9M;<5;-�  ا���Eدة Uو<�> ا�!ا��  و<
 r ' 10= Ω  �O�*�maxو#!ر=> ا� 10W=P   

��و<�>  Dــ <�hl أو<�� >R 20= Ω   
   Kــ أ<@�;<�; و#�طv ا����ر 

�J>I�ح ، �nO; اG<@�;<�; إ�] ا�����  Kــ #�طv ا����ر  1 0,4A=  .  

  ا��@!دة J�H)�ل  j3Pو  j2Pو  j1Pأ-�, =)��H; ا��!رات ا���L�H;9M  1ــ  1

  وا��5;ك وا���Il اGو<ZV ، 1 أ&4,��ل "�] ا���ا�1 �1 ا����! 
 thP  ��L�H;9M1 ا�!ارة ا����� ا��@!دة �H)�ل ��ل Mا� ��L�H;9Mرة ا�!�   ) 1,5( . ا�

����!  TPأو�! =)@�;  2ــ  1� ���Mا� �#�Tا���'!H  E'  وI  وthP   ;�@(= `�K�aواE'  ��'!HthP  وE  وI  . ,4&أ

E' )1,5(  
��5;ك  ePأ&4, ا��!رة ا���L�H;9M  3ــ  1� �&�Kف ؟ . ا���h=6ا C> C>c> 1�  ) )1ھ�(O I@; ا��5;ك 

���n; اG<@�;<�; إ�] ا�����  Kــ +7�k #�طv ا����ر  2I ' 1,07A=   

��5;ك  'P'أ&4, ا��!رة ا���L�H;9M  1ــ  2� �&�K(0,75) ا��� 
  (0,75)ھO I)�@; ا��5;ك �C> C>c> 1 اh=6ف �1 ھ!ه ا����5 ؟ "�I ��ا3H  2ــ  2

�1 ا��;-�, "MO �>!K�ن #�طv ا����ر <�J�&�  (D)<� دور ا���Il اGو<1  .(0,5)  


